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Solutions  
 

This practice critical thinking test will assess your ability to make inferences and assumptions 

and to reason logically with arguments.  

 

Read the instructions preceding each section and answer the questions. There are a total of 

21 questions in this test and you should aim to correctly answer as many questions as you can 

within 30 minutes. 

 

Try to find a time and place where you will not be interrupted during the test. The test will 

begin on the next page. 
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Deductions 

Instructions: 

In this section, a statement will be provided followed by a series of suggested conclusions. Here, you 

must take the statement to be true. After reading each conclusion underneath the statement, you 

must decide whether you think it follows from the statement provided. If you agree that the 

conclusion follows the statement, choose CONCLUSION FOLLOWS. However, if you do not agree 

that the conclusion follows then choose CONCLUSION DOES NOT FOLLOW. You must select your 

answer based only on the information presented; not using general knowledge. Similarly you are 

advised not to let your own opinions or prejudices influence your decisions; stick to the statements 

and base your judgements on the facts presented.  
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Statement one: 

 

 

Conclusion One: Outsourcing functions to business process outsourcing companies will cut 

expenses. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion does not follow. 

Explanation: Although this company saved money on their IT function, it does not state that other 

companies will also save money, or that other functions if outsourced would save companies money.  

 

Conclusion Two: The aim of this company’s outsourcing was to make the organisation more 

profitable. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion does not follow.  

Explanation: The statement does not say that the organisation is a for-profit organisation, and does 

not mention profitability in the statement, the aim of the outsourcing was to cut expenses. Who is 

to say what their aim was regarding income (and therefore profit)? 

 

Conclusion Three: The outsourced IT function has saved the organisation 1/5th on their IT function 

expenditure compared to the in-house IT function. 

 

Conclusion Follows 

Conclusion Does Not Follow 

Correct Answer: Conclusion follows.  

Explanation: The statement notes that by outsourcing its IT function the company has cut its IT 

expenses by 20%, suggesting that the previous function was 1/5th (20%) more expensive, and 

therefore outsourcing has saved 1/5th of the IT expenditure. 

  

 

In an attempt to cut expenses, an organisation disbanded its IT department and 

outsourced its IT function to a business process outsourcing company. In doing so 

the company has managed to save 20% on its IT function expenditure. 
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Statement two: 

 

Conclusion One: Sarah’s company will fail. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion does not follow.  

Explanation: The statement notes that new companies are more likely to fail. This does not mean 

that all new companies will fail. The correct answer is, therefore, conclusion does not follow. 

 

Conclusion Two: Sarah’s company is more likely to fail than a well-established company. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion follows.  

Explanation: The statement notes that new companies are more likely to fail. As a new company, 

Sarah’s company is therefore more likely to fail. The correct answer is therefore conclusion follows. 

 

Conclusion Three: Well-established companies are more likely to succeed than new companies. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion follows.  

Explanation: The statement notes that new companies are more likely to fail than well-established 

companies. Well-established companies are therefore more likely to succeed, by comparison to new 

companies. The correct answer is therefore conclusion follows. 

 

 

Sarah owns a new company. New companies are more likely to fail than well-

established companies. Therefore: 
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Statement three: 

 

Conclusion One: French and Belgian products are more expensive. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion does not follow. 

Explanation: There are other reasons why such companies may be more successful, for example the 

goods may be of a better quality or the type of goods may have a specific taste which is popular, or 

they may prove better value. Therefore, we cannot say that these companies are more successful 

because their goods are more expensive.  

 

Conclusion Two: French and Belgian baked goods must taste better. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion does not follow.  

Explanation: There are many reasons why such companies may be more successful, taste is only one 

option. Therefore we cannot make this deduction without further information.  

 

Conclusion Three: It is a sound business model to advertise baked goods as French or Belgian as it 

is more likely to result in successful sales. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion follows.  

Explanation: The statement notes that companies selling these types of goods are more successful. 

Therefore, we can state that it is a good business model to advertise items on this basis. 

 

Statistics have shown that companies selling baked goods, such as cakes and 

pastries, are more likely to be successful if they are advertised as French or 

Belgian. Therefore: 
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Statement four: 

 

Conclusion One: It rained more than expected in May 2012. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion does not follow. 

Explanation: The information in the statement does not offer a prediction to the amount of rainfall; 

it only states that predictions of rainfall are rarely accurate. We cannot deduce what the prediction 

was based on the statement, therefore the conclusion does not follow.  

 

Conclusion Two: The rainfall in May 2012 was greater than in May 2011. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion Follows. 

The rainfall in May 2012 was the highest on record for the past 50 years; therefore it must have 

been higher than the May 2011 levels.  

 

Conclusion Three: May is usually dry. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Correct Answer: Conclusion Does Not Follow. 

Explanation: The statement refers to the rainfall in May 2012 being higher than usual. The statement 

makes no reference to May being usually dry. Based on the information in the statement alone, the 

correct answer is conclusion does not follow. 

 

 

 

May 2012 had the highest level of rainfall on record for the preceding fifty years. 

Predictions of rainfall are rarely accurate. Therefore: 
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Statement five 

 

Conclusion One: It is possible that Facebook will also drop in value after May 2012. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Answer: Conclusion Follows. 

Explanation: Based on the information provided about similarly high performing companies, we are 

able to make the conclusion that Facebook may meet a similar fate after May 2012. The word ‘other’ 

means that Facebook is similarly high-performing as a company. The other key word here is ‘may’, as 

we are unable to say for certain, based on the information provided that this will definitely happen. 

Based on the information in the statement and the use of the word ‘may’ in the conclusion, the 

correct answer is conclusion follows. 

Conclusion Two: Social networking sites perform badly once they become publicly listed on the 

stock market. 

 

Conclusion Follows 

Conclusion Does Not Follow 

Answer: Conclusion Does Not Follow. 

Explanation: The passage does not state that social networking sights perform badly once they 

become publicly listed. We cannot deduce this from the passage, and therefore the conclusion does 

not follow.  

Conclusion Three: All companies decrease in value when first launched on the American stock 

market. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Answer: Conclusion Does Not Follow. 

Explanation: Based on the information in the above statement we are unable to say that all 

companies drop in value. The statement notes three companies that have decreased in value, 

 

Facebook was launched on the American stock market in May 2012. However, 

statistics suggest that other several previously high-performing companies, such 

as Pandora, Groupon and LinkedIn fell in value after they were launched on the 

American stock market. Therefore: 

 



 

For personal use only. Unauthorised copying or 

distribution in printed, electronic, or any other 

form in whole or in part, is prohibited without 

prior written permission from AssessmentDay. 

 

Page 8 

 

Document last updated 03-12-2018  

 

AssessmentDay 
www.assessmentday.co.uk 

however we cannot apply this to all companies. The correct answer is therefore conclusion does not 

follow.  
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Statement Six: 

 

Conclusion One: Banks have never been trusted by the general public. 

 

Conclusion Follows 

Conclusion Does Not Follow 

Answer: Conclusion Does Not Follow. 

Explanation: Based on the information contained in the statement, we are also told that bankers are 

“no longer” seen as reliable or trustworthy. For this reason, we are unable to say that banks have 

never been trusted. For this reason, the correct answer is conclusion does not follow. 

 

Conclusion Two: Reliability is no longer an issue when considering the failings of the financial 

sector. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Answer: Conclusion Does Not Follow. 

Explanation: The statement notes that ‘reliability’ is one of the key problems facing the financial 

sector. For this reason, we are unable to conclude that ‘reliability’ is no longer an issue. The correct 

answer is therefore conclusion does not follow.  

 

Conclusion Three: Overpaying financial executives may contribute to problems facing the financial 

sector. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Answer: Conclusion Follows. 

Explanation: The passage states that one of the reasons for the problems facing the financial sector 

is that executives are seen as overpaid. Overpaying executives will lead to the public seeing 

executives as over paid. This conclusion therefore follows.  

  

 

There are currently three problems facing the financial sector. Firstly, bankers are no 

longer seen as reliable or trustworthy. Secondly, executives of financial institutions are 

seen by the general public as being overpaid. Finally, it is difficult to regulate the financial 

sector. Therefore: 
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Statement seven: 

 

Conclusion One: The scent from Coley’s candles is made from fruits and berries. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Answer: Conclusion does not follow. 

Explanation: Although the ingredients are said to be natural, it does not specifically state what those 

ingredients are, and therefore we cannot deduce that fruits and berries are the ingredients, 

therefore the conclusion does not follow.  

 

Conclusion Two: Coley’s products are unlikely to contain man-made setting agents. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Answer: Conclusion Follows. 

Explanation: Based on the description of the products made by Coley’s and the ingredients they use, 

we can conclude that these products are unlikely to include manmade setting agents as this would 

not be a “natural product”. For this reason, the correct answer is conclusion follows. 

 

Conclusion Three: Coley’s products are likely to be more expensive. 

 

Conclusion Follows 

Conclusion Does Not Follow 

 

Answer: Conclusion Does Not Follow. 

Explanation: The statement fails to make reference to the price of these items. Therefore, we are 

unable to conclude that they are more expensive. For this reason the correct answer is conclusion 

does not follow. 

--  END OF TEST  -- 

 

Coley is a company that produces scented candles, using only natural products. Coley is 

against testing on animals and does not use pesticides in any of its products. Therefore: 

 


